L o1 binomiale

B(klﬂ.ip) — Cf _pk _ (1 B p)n_;‘.

k = nombre de succes
n = nombre d'¢preuves
p = probabilite¢ du
succes

[Lo1 binomiale

mn v n—k
B(kinip) = Cy - p* - (1 - p)

k = nombre de succes
n = nombre d'€épreuves
p = probabilité du
SUCCES

[.o1 binomiale

B(kinip) = Cy -p*- (1 —p)" "

k = nombre de succes
n = nombre d'épreuves
p = probabilité du
succes

Lo1 binomiale

B(kmfp) = C;? -pk . (]_ e p)n -k

k = nombre de succes
n = nombre d'epreuves
p = probabilite du
SUCCES

Lo1 binomiale

B(kinip) = Cy -p* - (1—p)" "

k = nombre de succes
n = nombre d'€preuves
p = probabilité du
Succes

Loi binomiale

B(kgﬂip) — OI? _ p,f.; _ (1 - p)” |

k = nombre de succes
n = nombre d'épreuves
p = probabilité du
SUCCES

L o1 binomiale

B(kmip) = C -p*- (1 —p)" "

k = nombre de succes
n = nombre d'épreuves
p = probabilité du
succes

[Lo1 binomiale

B(kiﬂip) — C;? -p’f”' : (]_ _p)n k

k = nombre de succeés
n = nombre d'épreuves
p = probabilité du
SUCCES



